LOSUNG zu bsp-7676-1/YNSV

Arbeitsblatt

Kostenlos auf dw-aufgaben.de

Aufgaben-Quickname: 7676

Aufgabe 1
Berechne.
a) 57 + 5 = 62 b)

91 + 8
d) 22+ 6 = 28 ¢) 58 + 8
g) 44+ 5 = 49

Aufgabe 2

Berechne.

a) 499 + 9 = 508
d) 387 + 6 = 393
g) 342 + 9 = 351
i) 446 + 8 = 454

b) 815 + 8 = 823
¢) 618 + 8 = 626
h) 683 + 9 = 692

Aufgabe 3

Berechne.

a) 81 +45 =126 b) 66 + 30 = 96
d) 46 + 87 = 133 e) 27 + 54 =81
g) 32+ 80 =112 h) 34 + 27 = 61
i) 97 + 56 = 153

Aufgabe 4

Berechne.

a) 03 + 8 =061 b) 3243 =35

d) 79+ 5 = 84 e) 86+ 2 = 88

g) 52 + 8 = 60

Viel Erfolg!
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) T6+1="7TT
£) 8347 =190
¢) 234 + 9 = 243
£) 755 + 8 = 763
i) 547 + 4 = 551
¢) 36 + 14 = 50
£) 22+ 71 = 93
) 76 + 99 = 175
¢) 41 + 4 = 45
£) 86 44 = 90
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